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lé
ře
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á
žk
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čá
st

ic
n
ej

so
u

ko
re

lo
va

n
é
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eń

ı
p
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ěl
ov

ać
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ži
te

ln
á.
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lé
n
a

r
a
t.

5
.1

.5
L
o
k
á
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Č
as

to
si

ce
n
ej

sm
e

ve
st

av
u

te
rm

od
yn

am
ic

ké
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čń

ım
te

or
ém

em

1 2
m
v

2 i
=

1 2
k
T

(5
.2

5)

5
.2

.2
R

o
zd

ě
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ů
že

m
e

d
efi

n
ov

at
ro

zd
ěl
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ćı

s
ry

ch
lo

st́
ı
m

o
le

k
u
l

S
tř
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ý

to
k

čá
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čá
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ži
t́ı

M
.-
B

.
ro

zd
ěl
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śı

od
M

.-
B

.
ro

zd
ěl
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ń
ı
té
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ač́
ım

e
n

0
hu

st
ot

u
v

ob
la

st
i,

kd
e
U

(r
)

=
0

za
ro

vn
ov

áž
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ř́ı

to
m

n
os

t
el

st
at

.
p
ol

e

E
=
−∇

φ
(r

),
(5

.5
5)

kd
e
φ
(r

)
je

el
st

at
.
sk

al
ár

ń
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ń
ı
en

er
gi

e
je

U
(r

)
=
qφ

(r
)

(5
.5

6)



a
hu

st
ot

a
čá
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é

m
ec

h
an

ik
y

m
ů
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eň

io
n
iz

ac
e

p
ly

nu
v

te
rm

od
yn

am
.

ro
vn

ov
áz

e
za

te
p
lo

ty

T
b
ez

zn
al

os
ti

d
et

ai
l̊u

io
n
iz

ač
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ře

st
o

m
ů
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ři

ń
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ěř
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č́ı
m

vy
šš́
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řń

ıc
h

st
u
p
ň̊
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